H & 0l & AHS B Ml A

20233 =0llah LB MRS

SA HRoL SR
M M20Lo=Egd
Rl HEsSENY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEO L2 3,827,770 4,074,591 N246,821
MO AY 1,988,482 2,041,677 A53,195
HEssEHE 1,988,482 2,041,677 A\53,195
WEZZ)H 2 570,903 534,780 36,123
201 fer= 3| 516,271 517,246 A975
01 At 2|l 488,510 491,540 23,030
O+ 27 E22 HN
10,000,000 10,000
OusHAL =& 469,650,000 469,650
OZAt THE 8E =& 1,000,000 1,000
OuFSPC 2HATEY0N 2
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OR|E2IY 29 APE ¢
4,500,000 4,500
OUSAIE 2g dHl Sxt=
1,920,000& 1,920
02 S3=gHl 27,761 25,706 2,095
OZAL tHHEE = 6,423,000 6,423
OLla ALZH KA
19,178,000& 19,178
O8&82= € HA 2,160,000 2,160
203 HR=AH] 3,600 3,600
03 A= LR F&IH| 3,600 3,600
OUSAIY =8 gAY
3,600,000 3,600
206 M=l 8,000 8,000
01 M= HI 8,000 8,000
HSUSE W7 7Y 8,000,000 8,000
405 AHaHE S 43,032 5,934 37,098
01 AL =S F = 43,032 5,934 37,098
Ok= wsIIXM 43,032,000 43,032
AN EF X2l 1,084,003 1,164,883 80,880
201 er23| 96,840 96,840 0
01 AtR2t2|HI 6,840 6,840 0
OFAAE 2| A2F ¢
3,000,000& 3,000
OFANLS & ==Y 3,840,000& 3,840
2 35244l 90,000 90,000 0
OAlE &I Xl 90,000,000 90,000
308 AHXIEMSOIE 944,437 917,151 27,286
1 SIS0t EAS A 944,437 917,151 27,286
OIMAIESE At2te| AS A
944,437,000 944,437
401 AIEHIZ SR THYI 42,726 149,652 106,926




2A:

M= 01 452t

M M20Lo=Egd
Rl HEsSENY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 42,726 149,652 /106,926
OAld= gEotdEd 12,936,000& 12,936
O=gd Mookl LEYX WHSAH
21,100,000 21,100
OgAY &Y SA 8,690,000 8,690
H=Ad 29 333,576 342,014 A8,438
201 Ler23 | 308,174 305,710 2,464
01 At22t2lt] 273,750 272,216 1,534
OHSA 44 257,880,002 257,880
O+2M 27 222 HE
1,500,000& 1,500
OHMSAE 425 7Y & =cl
7,000,0002 7,000
ONSAE 2% ZH YH2
7,370,000 7,370
2 s5=34l 32,924 31,994 930
OSEUANAY HX X242
22,950,000 22,950
O & A28 RAESx
6,474,000 6.474
O=&g A 3,500,000& 3,500
03 A= SHI 1,500 1,500 0
OFun =885 MEU2 1,500,000 1,500
206 MH=H| 12,000 12,000
01 M=4l 12,000 12,000
Ox=g% &2 43 & u+ 7
12,000,000& 12,000
405 KHakE SH 13,402 23,980 /10,578
01 TR ESF SHI 13,402 23,980 ~10,578
ard 23017 7Y 13,402,000 13,402
HH 23 1,839,288 1,789,900 49,388
QA (MRHLS2) 1,433,106 1,413,997 19,109
el E2d| 1,433,106 1,413,997 19,109
101 21AH| 1,359,136 1,353,160 5,976
01 2= 955,094 950,720 4,374
O== 717,809
SL= 94,424,000& 1 94,424
obg 77,855,000&x14 77,855
=62 4,113,600 x32x 122 148,090
olg 3,312,000&x10& « 128 397,440
od2=g 45,460,800 45,461
Od2=gitita 14,160
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2A ARHYE 2
B sE2oAy|
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o154 0f&t 80,000 x3Y *12& 2,880
o104 0f&t 60,0003 =2« 12& 1,440
obH 0l&f 50,0003 «2Z 123 1,200
OJrEsY 13,200
=1 EON; 40,0003 *158*12& 7,200
SEPE 20,0003 «7H 123 1,680
o =M At 60,0003 x4« 12& 2,880
SESW e 20,0003 «6F =123 1,440
OUeERA=+E 8,148
o7z 3,312,000& x5H 4, 1%+ 12& 8,148
OE=gRg 2,160
oJ|2d3BE+Y(673)
30,0003 +«3F 128 1,080
oJIEd3EsEoRZ
30,0003 3123 1,080
O=uZ2=4 65,829
Slo= 12,3203 +37 Al 23+ 123 16,411
SYe=1 11, 130R 37 A2 108« 12& 49,418
OFAHZ Al 140,000 15+ 12& 25,200
O 4| 8,573,813& 8,574
OZEZOt| 54,552,960 54,553
02 JIEt& &2 63,068 61,370 1,698
OJl2= 3,535,000 x 1B+ 12& 42,420
(O 3,535
&z 3,535,000& 3,535
(OFSF=sa= ) N = 1,560
o254 0fat 130,000 x1H + 122 1,560
OJE= 960
=1 EON; 40,0003 18123 480
o MAHES 20,0003 =2« 122 480
Ox=222Y
9,523 +67 Al 2h 1« 123 7,657
OZAZ Al 140,000 x1F + 122 1,680
OYE It 4,242 000 4,242
OHIE 4| 1,013,367& 1,014
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(OpIE== 218,949
SRi=t= 2,087,420 2B+ 122 50,099
o253 2,247, 7002 x3B + 128 80,918
SRSt 2,289,700 x1Z~12& 27,477
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OZAHZ A 140,000 +8H 122 13,440
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- 1822 17,3022 +30AI 2H1H+ 123 6,247
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- 22e= 20,4503 x30A| 2tx 12+ 123 7,366
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Ms= 18,6593 *6Al 2tx1H+143] 1,568
== 20,4502 BA| 2 1H x143] 1,719
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Sl 1,166,245% 1,167
XS = 1,352, 700& 1,353
204 Xt FH| 38,880 37,200 1,680
02 HZ22 x| 38,880 37,200 1,680
OXZEXHI 38,880
ST 4,800,000 4,800
SN 6,000,000& 6,000
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